PARAGON CONVENT SCHOOL

SECTOR -24 B, CHANDIGARH

CH-4 (ADDITION)

WORKSHEET
CLASS -3 SUB - MATHS
Q-1. Add these —
1. Th H T @) 22Th H T O
5 7 2 9 6 3 7 0
+2 1 8 0 + 3 6 2 9
3. Th H T @) 4.Th H T @)
7 2 0 9 6 2 8 4
+ 1 8 1 3 + 1 9 0 7
Q-2 Fill in the blanks —
1. 3105 +0=---
2. -—--—- + 8450 = 8451
3. 2546 + 1023 = ------ + 1023

4. 401 + - = 401
5. 5830 + --- = 5840

Q-3. The supermarket sells 1048 eggs in the first week and 1536 in the second
week of March . How many eggs does the supermarket sell in total ?

Sol : Eggs sells in the first week =

Eggs sells in the second week = +

Total eggs =

Q-4. Inaschool 1845 students travel by car , 3485 travel by school bus and
1235 walk to school. How many students are there in the school ?

Sol : Students travel by car =



Students travel by school bus =

Students goes by walk = +

Total students =

Q-5. Aflorist has 1254 roses and 1575 marigold flowers . find the total no of
flowers in his shop .

Sol : Number of roses =
Number of marigold = +
Total flowers =

Q-6. Mohit bought a DVD player for Rs 3545 and a printer for Rs 5499 . How
much money did he spend altogether ?

Sol : Cost of DVD player =

Cost of printer= +

Total cost =



